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Write a function named Div16_8 to divide an unsigned 16 bit number by an unsigned 8 bit

number. Test your function by writing a program named Div8_test to test the subroutine

Div16_8 by dividing the 16-bit-number: OxAAAA by the 8-bit-number 0x55.
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Stack Pointer
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1.0000 MHz
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OXAAAA/0X55=0X0202

1l

1di rl6,.0=zad
mov NH,rl6

Watch X
mov HL,rle ;
1di Dencminator, 055 MName Value Type Location
#7Call the 16 hit by & hit division nH OxRR "2 Register R25

.:D reall Divile_8 NL OxAg 27 Register R24
® ret Denominator 0x55 'U" Register R19
QH ox02 ' Register R22
s QL 0x02 "¢ Register R21
#* cubroutine divides unside 16hkit by Bbit
* QJuctient = HNumerator-Dencminator *
* r22:r2l = r25:r24 ~ rl9 *
-
Divle_8:
clr r22
elr r2l I 4 » ¥ “Watch 1{Watch 2 {Watch 3 {Watch 4
## loop L1 stops when the numerator - denominater = less than the demoninator
L1:
0L is going to increment by 1, evervtime L1 loops
inge QL SIT22

<~wWhen QL reaches 2355 or 0XFF and then goes back to 0, OH is going to increment by 1

cpi r2l,0
brne No_Ine
| inc QH SITE2
Mo Ine:
sub  r24,Dencminator /- rl9
she  r25,r2
broce L1

s431nce r2l is incremented by 1 when the loop began, after the loop r2l is decremented
dec QL ~o1r21

#HNotice L1 is going to branch off when the numerator is ne lnger divisiable by the denominator
ZAMhich means L1 is branching off when r24-denominator results in a negative wvalue.
#<Therefore, the denominator is going to be added to the rZ4 after the loop.

add r24,Dencminator ~or24,rl9
ade 25,12
® ret




